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1. mm«mﬁm/mwwm:
1x8=8

Choose ' the correct answer/Answer the

following :

(a) Tl =@ W (R
Net National Product (NNP) is

(i GNP— (o9 T/ GNP—Depreciation
(i) GNP—?Tar® ¥4/GNP—Indirect taxes
(iii) GNP—ITPTRRT/ GNP—Subsidies

(iv) S99 qb1e 7T2/None of the above
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(2)

. o
A.i. -

(b) TR @Y B @ I T2

Which of the following is not a function

of Central Bank?
() 5 =on T
To issue currency notes
(i) 49 5 39
To create credit
(iii) 41 fge 31
To control credit .
(iv) QTR RRR A I 791
To act as the banker of the banks
(c) I 2 oo arrom R
AT T 2RTOR TN 3'g
If the value of marginal
consume is 0-80, then
. marginal Propensity to s
(i) 0-40
(f) 0-30
(iii) 0-20
{iv) 0-10

@ T i

0-80 =, (ors

Propensity to
the value of
ave will be

(e)

(9)
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(3)

‘Rpy ifen iy efed T o

The World Trade Organization was
started in

() 1959
(i) 1995

(iii) 1996

(iv) 1997

BoSIo o e =gl ARG

The absolute income theory of

consumption was advanced by

(i) @R
Keynes

(i) B
Fisher

(iii) TG
Friedman

(i) COETA

Modigliani

e O A R

What is meant by ‘stagflation™
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(4)

(h) o] ‘
m?m@@? IR SR SR’ @

Which of the followi
owing banks is kn
as ‘lender of the last resort’? o

(i) IR @ / Commercial Bank
(i) @7 @ ) Central Bank

(i) R / NABARD

(iv) SR—E o / Cooperative Bank

2. R @ vt

Ree) - 7L OB (&R 150 e

Write short notes
150 words each) :

(@) s e o

Nature of macroeconomics

=

(S)

f woTe e 2pRs Tl fidl (2t 500 =7 foeas)

Answer the following questions (within 500 words
each) : '

41

3. (@) I8 oW WA 2 W AR Rorers
WA @Y $7 G N IER SHRAEHR
foran : 2+5+5=12
What is national income? How far is it
important in modern economic analysis?
Discuss the limitations of estimating
national income.

71/ Or

lﬂ (b) @Wﬂ@ﬁmmﬁﬂwstmm
| e 4 O CRERA RA-SPRAPRR 36
901 B 2+5+5=12
Define national income. Discuss various
methods of computing national income
and explain their merits and demerits.

4. (a) Ww’qﬁﬁﬁs{m?wﬂﬁmwmﬁ

Sl TR AL W AORCGRT |
1+10=11

g[ What do you mean by value of money?
Critically discuss the cash balance
approach to the quantity theory of

money-.
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5. (a) W@mmaﬁaﬁﬁmﬁw«w
AWM F
Explain the process of credit creation by
the commercial banks with the help of
example.
SR 1/ Or
(b) oo PR oy e foray - 5+6=11
Write short notes on the following . '
(i) Q=T I&q IR
. Open-market Operations
(i) I 3q e sy
Selective credit control methog
6 @ PR yys gorg,
A
| %WﬂmmﬂWWQfTWli
ST <541 s 6’1;‘
O consumptiop, flfrtxl:t?l v fie meaning
objective factorg det. °n-. Discuss the
ton fungtiy - -orMining consump-
P15-9000/5194

(6)

{1/ Or

s WWWW@@% | WA
SICTRR 5 &9

price. What are its drawbacks?

8+3
- Discuss Keynesian theory of money and

(b)

7. (@)

(b)
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(7)

¥/ Or

el W SR AEIPe o9l IR I |
311!% crPTR, Sy 31 7+4=11
E;x lain the classical theory .of
eml;loyment and income. Mention its
drawbacks.

e WE SEIHR & <1 3971 F
§WﬂwmﬁmW| 6+5=11
Distinguish between free tra'de and
protection. Give five arguments in favour
of free trade.

§q1/ Or

e A TS SREINIER) {ﬁ(ﬁ =
2 G SITHRTON PRI & &2
Wﬁfkﬁ zﬂﬁ@iﬁ EHoe Q1 ’@ﬂmﬂﬁ]ﬂ'\ﬂ Iﬁ
s 991 (NG TREPER SCEH
b 2+4+5=11
W | . .
What do you mean by disequilibrium in
balance of payments? What are the
causes of this disequilibrium? Discuss
the monetary measures to correct the
disequilibrium in balance of payments.
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